
    x+x+x=180°
Triangle Sum Theorem
     3x=180°
      3    3
       x=60°

   
 2x-12=60° 
equilateral triangle

2x-12=60°
   +12 +12°
     2x=72°
      2   2  
       x=36°

    x+x+30°=180°
Triangle Sum Theorem
     2x+30°=180°
        -30°  -30°
           2x=150°
            2    2
             x=75°

     2x-27°=x+53°
   iscosceles triangle
     2x-27°=x+53°
     -x       -x
       x-27°=53°
         +27°+27°
              x=80°



Triangle Sum Theorem
24°+88°+x=180° 
     112°+x=180° 
    -112°  -112°
            x=68°





Triangle Sum Theorem
18°+94°+x=180° 
     112°+x=180° 
    -112°  -112° x=68° m A=68°

18°

94°
x



Triangle Sum Theorem
x+2x+(x-16°)=180° 
 x+2x+x-16°=180° 
     4x-16°=180° 
        +16°  +16°
           4x=196°
            4    4
             x=49°




